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frTeiEd orsg I T el &7 9 Fafa 2

P GT I T Y BT AT TET HIAT ?
(A) T o (o)

(B) T IA

Q) foedt : faeet &1 a<ar

(D) X : ATAH

(B) 3raRd e

S T AT H T UG AT BT :

ZYO, XWP, VUQ, ?

(A) STR (B) RTS

(C) TRS (D) TSR

(B) 3raRd e

AT HT ATIHR AT, 2005 (RTI FTITTH)
UUF  GESIE AR F HHABNST A
frafafea & & T o7 *t ST 39 &1
FIAT B 2

e fog T fawent ¥ 9 IUgE IR 94|

(A) ORERTET (B) ggrem

(C)  wfersar (D) T i ATy
(B) 3raRd e

AT IR & TET 3 BT B @ B G Y

T foT T fawedt # ¥ 99 IUGE I G|

(A) FTETEIC Bl T

(B) U EU WIS ¥ WA 19 dcal B
TN HIAT

(C) O 3T SAGOT BT AN HIAT 3T farqT

T WIS B 91aY et

(D) WM St q=T=T
(B) 3raRd e

The following pairs of words are related in a
particular manner. Which pair does not follow
that pattern ?

(A) Dog: Puppy

(B) Cow : Bull

(C) Cat: Kitten

(D) Lion: Cub

(E) Question not attempted

Find the missing term in the given series :

ZYO, XWP, VUQ, ?
(A) STR (B) RTS
(©) TRS (D) TSR
(E) Question not attempted

The Right to Information Act, 2005 (RTI Act)
seeks to promote which of the following qualities
in the working of every public authority ?

Choose the most appropriate answer from the
options given below.

(A) Transparency (B) Efficiency

(C) Reputation (D) Punctuality
(E) Question not attempted

The function of the large intestine in the human
body is mainly to :

Choose the most appropriate answer from the
options given below.

(A) Digest the carbohydrates

(B) Absorb all nutrients from the digested food

(C) Absorb water and salts and excrete the
undigested food

(D) Digest the proteins

(E) Question not attempted
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frfaRaa amelaat # ¥ ST I Pl arbt
R

RSN P

(a) (b) (©) (d)
(A) (b (B) (d)
© (@ D) (©
(B) 3T ARa ueA
HHT T Bt A & T =fafea & 9 e
IUBIOT BT ITGNT FFAT STTATE 2
T fau T foswent # ¥ ¥EW SUgE 3% I |
(A)  TErHTY
(B) H&HIUTE
(C) Tfrpaw 3 FATH TATHIET
(D) SRR
(B) 3TIARa ueA

afs PAPER ® 16-0-16-0-18 & ¥4 # pfeqd
(Fifeq) fFam @m &, @ M9 PENCIL H FH
IS BT ?

(A) 16-0-14-3-012  (B) 16-0-14-0-0-3

(©) 16-514-3-912 (D) 16-5-9-12:0-3

(B) 3raRd e

MRIT TSTe 2024-25 % AR, 25 AT JTHIOT
TRaRt & U Sa S e doed @

ITTATT & T 2
(A) 15&RBAT (B) 20 &R B
(C) 25 &R HUS (D) 10 &R HUS

(B) 3raRd e

Amongst the following figures, which one is
different from the rest ?

RSN P

(@) (b) (©) (d)
(A) (b) (B) (d)
© @ D) (©

(E) Question not attempted

Which of the following instrument is used to
measure Earthquake waves ?

Choose the most appropriate answer from the
options given below.

(A) Rain gauge

(B) Seismograph

(C©) Max and Min Thermometer
(D) Barometer

(E) Question not attempted

If PAPER is coded as 16-0-16-0-18, how will you
code PENCIL ?

(A) 16-0-14-3-0-12 (B) 16-0-14-0-0-3

(©) 16-5-14-3-9-12 (D) 16-5-9-12-0-3
(E) Question not attempted
According to modified budget 2024-25, what is

the estimated expenditure on Jal Jeevan Mission
drinking water for 25 lacs rural households ?

(A) 15 thousand crores (B) 20 thousand crores
(C) 25 thousand crores (D) 10 thousand crores

(E) Question not attempted

P.T.O.
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frfeiEd 3T Iepe # SFTCT F&aT 947 8 2
77,49, 36, 18,

(A) 8 (B) 6
© 7 D) 9
(B) 3raRd e

T foT T e #, U FUA & 919 &1 a 13
15T v Bl a0 & F ®9 Uy 9% Ay
28"

-forar @t et wfest #t Rrem @t qEeT
i et o e 9w st 9T = B

"
%%gg

T+ .

1. 2| 31es 3uld 2 % e asfeat #t qot

# 31 Tt B 2l

. & Aa-foar &7 9=t oS @ fLrem &
AT | 3T TS WX AUF IAT = FHIAT
EuEy

(A) FHaA TP 1A 2

(B) =T & 13T 7= B

(©) = 4137 7 & 11 HsTad B
(D) Fad TF [ 99T &

(

E) 3rand ued

T Hi¥ad ®ig |, BLACK &I 29 fo@r st 2
3T BIS H WHITE &t fet@r ST 2
(A) 65 (B) 23

(C) 56 (D) 92

(B) 3raRd e

WA TG Fa STAATT AT o7 2
(A) 26 TR 1950

(B) 26 TdsR 1949

(C) 2 37T 1948

(

D) 15 30 1947

(B) 3raRd e

10.

11.

12.

What is the next number in the following
sequence ?

77,49, 36, 18,
(A) 8 (B) 6
© 7 D) 9

(E) Question not attempted

The question given below consists of a statement
followed by two arguments I and II. Decide
which of the argument(s) is/are strong ?

STATEMENT :
Should parents spend more money on the

education of their sons than on the education of
their daughters ?

ARGUMENTS :
I.  Yes. The data shows that boys succeed more
than girls.

II.  Yes. Parents should spend more money on
their daughter’'s marriage than on her
education.

A) Only argument II is strong.

B

~

Either I or II is strong,.

(

(

(C) Neither I nor Il is strong.
(D) Only argument I is strong.
(

E

~

Question not attempted

In a certain code, BLACK is written as 29. How is
WHITE written in that code ?

(A) 65
(C) 56

(B) 23

(D) 92

(E) Question not attempted

The Indian Constitution was adopted on :
A) 26 November 1950

B) 26 November 1949

~

D) 15 August 1947

(

(

(©) 2 October 1948
(

(E

~

Question not attempted
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T ST T 99T F TH HUT & A ST ROME
131X 1€t g ¥l $UF BT TF AT L, TT B
% I | ITOT/aRoTg e 5/7 2

PYA

2 X H BUST BREET HI =T H ghg F
SIS, TE IS BT AT HIAT SIRT T B
RO

L X% ufq =i $ug #t 71 5 9g W@ R
. X% BT Hieam Hre &

(A) Haer emom 11 f4ted B
(B) @&t 14 11 f+fea &l

(©) 13RI e 2
(
(

o

) Hae gror 1 2

E) 3raRa ued

frfaiaa & 9 feas o9 et o0 & TouaTe
UG H ZSH B AT 22

(A)  Ferermr s

B) AT

C) FHTIldT

D) T

E) 3 and ued

T 9T T geF H TFH FAA I TS AG qF
fpy (1317 1) f3T 7TU E| Fa9 B TF AT
TC, T Y 6 ITH A Aq0 w7 @

TE AERT § ATFF T F TIg ¥ T a0
FIATE ?

HUF : TG TTNEH 2|

5y

I AT A9 B

I ST & SV od 8, 3% T fga #r &
EECIES

(A) Hae fTsFY 11 3TERT FHIAT 2

(B) ¥ & I3 = & I 3TTEROT T &

(C) 13T IIAT AT FId Z|

(D) ae Ty 1 31T T 2|

(B) 3raRd e

(
(
(
(

13.

14.

15.

The question given below consists of a statement
followed by two assumptions I and IL
Considering the statement as true, decide which
of the assumption(s) is/are implicit ?
STATEMENT :

In spite of an increase in the number of textile
factories in a country X, it continues to import
fabric.

ASSUMPTIONS :

I.  The demand of fabric per capita in X is over
increasing.

II.  The textile factories of X are inefficient.

A) Only assumption II is implicit.
B) Either I or II is implicit.

o

(
(
(C) BothIand II are implicit.
(D) Only assumption I is implicit.
(E) Question not attempted

Who among the following has the power to
remove the governor of a state from office ?

(A) Legislative Assembly
(B) Chief Minister

(C) Speaker
(
(

>

) President
E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of the
conclusions  logically follows from the
information given in the statement beyond a
reasonable doubt ?

STATEMENT : Death is inevitable.
CONCLUSIONS :
I. Man is mortal.

II.  Those who are born must die one day.

Z

Only conclusion II follows.

=

Neither I nor II follows.

Both I and II follow.

S

Only conclusion I follows

~_~ o~ o~ o~ o~
@)
~

o

Question not attempted

P.T.O.
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frfafaa & 9 ®19 @1 stter 9 (=) 22
(A) FE : wAER

(B) e : e

©) HAm . wW

(D) Wb 3 (TIH)

(B) 3raRd e

ITARTSET Thepe & SIde™@ & 600 e ol aTel
ST % TEe FoaTSt B I &2

(A) Tifed s (B) 3fag am

O TEeAt®®d (D) I I

(B) 3rgaRd e

TF P (PIE) WS H, ‘ENGLISH’ &l

“VMTORHS’ fet@&T Strar &1 St wrer § ‘HINDI
Ht B forET ST 2

(A) SRMWR (B) SRMVR
(C) SROWR (D) SRNVR
(B) 3raRd e

22 Wl 2025 d6 TGRS & HSTUGRT B
g9

(A) ot TA.Tw, et

(B) #ftf TA.TH. oieT

(O ot S, ErETe

(D) =it TS TS

(B) 3TIaRa ueA

et STt 7 Jpfeas ®9 STt TR TF dgor B
it e 3,39 ®ed B

(A) wTe (B) srorwrdt
(O srrafRrEst (D) Tt
(B) 3raRd e

59, 68,77, 83, 89, 92, x

(A) 99 (B) 95

(C) 98 (D) 97

(B) 3raRd e

16.

17.

18.

19.

20.

21.

Which of the following pairs is the odd one out ?
(A) Chair : Furniture

(B) Rose : Flower

(C) Banana: Apple

(D) Frock : Dress

(E) Question not attempted

Who has become the first batsman in the world to
hit 600 sixes in the history of International
Cricket ?

(A) Rohit Sharma (B) David Warner

(C©) Quinton de Cock (D) Jos Buttler
(E) Question not attempted

In a code language, ‘ENGLISH" is written as
‘VMTORHS'. How will ‘HINDI’ be written in the
same language ?

(A) SRMWR (B) SRMVR
(C) SROWR (D) SRNVR
(E) Question not attempted

Who is the Advocate General of Rajasthan as on
22 Feb. 2025 ?

(A) Sh.M.S. Singhvi

(B) Sh. N.M. Lodha

(C) Sh.B.P. Agarwal

(D) Sh. Rajendra Prasad

(E) Question not attempted

The alternative form of a gene which controls any
one character is called :

(A) Dominance (B) Recessive

(©) Genetics (D) Allele
(E) Question not attempted

Find the missing number x in the given series :
59, 68, 77, 83, 89, 92, x

(A) 99 (B) 95

(©) 98 (D) 97

(E) Question not attempted
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&Y TS SMPI (X) BT FET gUOT wiafea g |

s

X)
5 [
© ZJ (D) @
(B) 3raRd e
TF M B 3T AR FIA §T YIS A Fa,
““gg T IET FHI IS BT gHeAAT AIE BN TIA
I IMSAT ¥ Tpy dvE Sutad & 2
(A) wer (B) forar
©) w3 (D) <=7 \Ig
(B) 3raRd e
fr=fafad 9 9 e “wrd dfaa™ &1 sHe”
AT ST & 9
(A) =¥, Y37, I
(B) SOTEX AT A&®
(C) =f. %A, wHaft
(D) AETEHT Teft
(B) 3raRd e
HHT-"[ARS FEAT H T 4G AT B
E11X, H7V, 2, N3R, Q2P
(A) K9S (B) 15T
(C) 19U (D) K5T
(B) 3raRd e
7

22,

23.

24.

25.

Choose the correct mirror image of the given
figure (X).

Mirror

OO

"3
"I

(E) Question not attempted

Pointing to a man, Sooraj said, “He is the only
brother of the daughter of my grandmother.”
How is Sooraj related to the man ?

(A) Son (B) Father

(C) Brother (D) Cousin
(E) Question not attempted

Who among the following is recognised as the
“Father of the Indian Constitution” ?

(A) Dr. B.R. Ambedkar

(B) Jawahar Lal Nehru

(C) Dr. K.M. Munshi

(D) Mahatma Gandhi

(E) Question not attempted

Find the missing term in the alpha-numeric
series :

E11X, H7V, 2, N3R, Q2P
(A) K9S (B) I5T
(C) 19U (D) K5T

(E) Question not attempted

P.T.O.
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frafafed & & ®E-E g FAA J9-

=TTt arafarset a6t & 2

T fau Ty foswent # ¥ @ SUgE 3% I |

(A) et I Afetat & fisctss, TS 3 At
FUg, AARMET HT MR 3R Fiy smfire

(B) TGMIEH B, PVC, 37T % T, g
o 3R BT

Q) &= F THS, TAST, TIRTH Bl Frdet 3T
P AR

(D) wATRTH HT T, THT I HIST, TN,

S Uite, HEET AT FEAS
(B) 31 aRd e
TR 3R TR i T UG i 9T &
(A) T (B) s
(©) warg g (D) =¥
(B) 31 aRd e

frtarEd e § weF Fg (2) % =" W S
o H@HT AT 2

T feu T ot § 9 99w St
3,4,6,8,12,13,24,7,48, 26

(A) 20 (B) 36
© 19 (D) 35
(B) 3raRd e

1976 ¥ fra qenfwe wenua stfufag gro
WRAT FqU™ &I JEqa=T § ‘i =eger’ s
STIST 19T AT ?

(A) 4T (B) 44di

Q) 43 (D) 41t

(B) 3raRd e

WRd & dfqa qar | ATedT W
QTS o |

(A) 7 (B) 10

© 15 (D) 5

(B) 3raRd e

I E @ qEEE By e W utag e
STV Rea 2|

(A) FEEEt (B) =iaeT
Q) e (D) it
(B) 3raRd e

26.

27.

28.

29.

30.

31.

Which of the following is a list of only bio-
degradable wastes ?

Choose the most appropriate answer from the
options given below.

(A) Fruit and vegetable peels, leather and cotton
clothes, cattle dung and agricultural waste

(B) Aluminium foil, PVC, egg shells, dried
leaves and paper

(C) Glass pieces, leather, plastic bottles and
agricultural wastes

(D) Plastic bottles, cooked food, household
organic waste, paper and cardboard
(E) Question not attempted

The famous folk dance of the regions of
Bharatpur and Alwar is the :

(A) Ghoomar (B) Garba
(C) Bhawai Dance (D) Bam Dance
(E) Question not attempted

What number should replace the question mark
(?) in the following series ?

Choose from the options given below.
3,4,6,8,12,13,24,7, 48, 26

(A) 20 (B) 36
© 19 (D) 35
(E) Question not attempted

On which Constitutional Amendment Act of
1976, the term ‘secular’ was added to the
Preamble of the Indian Constitution ?

(A) 42nd (B) 44t
(C) 43+ (D) 41st
(E) Question not attempted

The Constituent Assembly of India included
women members.

(A) 7 (B) 10
(C) 15 (D) 5
(E) Question not attempted

Identify the river on which the famous Chuliya
Waterfall is located.

(A) Saraswati
(C) Betwa

(B) Chambal
(D) Luni
(E) Question not attempted
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TSI [T i e | Fad & ?

(A) FEAT BTA (B) S =
(C) 2T T (D) ETATEr T
(B) SrIaRa ued

frferiaa e & w99 g (2) & W= W 3
qTAT HEAT BT TIT B

2,5,10,17, 26, 2, 50

(A) 38 (B) 39
Q) 40 (D) 37
(B) 3raRd e
sﬂﬁﬁwﬁﬁﬁﬁW%:

(A) wferat (TepeTT)

(B) fae (Feertw)

(C) wThTTas® (i)
(D) UEUd® (BIgeiclihe)
(B) 3raRd e

FrfeRad =T § weT g (2) F W= 9 a0
T 2
M14P, PM14, 4PM1, ?

(A) 14PM (B) 1MP4
(C) 14MP (D) 1PM4
(B) 3raRd e

frfafaa & ¥ @9 @1 sdo/ae @ A,
HIMEAT, T ogel AR Al # geeiged #

ST FRaT ST & 2

(A) 3raael U0 (B) HHd YT
©) I & (D) 3T TYT
(B) 3raRd e

ARA BN 2090 GYEA FTWOET B OIFEER,
Tl § § $IF | ST 9 TG &

AE F i aT &9
(A) T (B) HeT wedT

Q) gfy=s Swet (D) IR U=0

(B) 3raRd e

33.

34.

35.

36.

37.

Lachhiram/Lacchiram is related to which folk
drama ?

(A) Kuchamani Khyal (B) Jaipuri Khyal
(C) Hela Khyal (D) Shekhawati Khyal
(E) Question not attempted

Select the number that can replace the question
mark (?) in the following series :

2,5,10,17,26, 2,50
(A) 38 (B) 39
(C) 40 (D) 37

(E) Question not attempted

The second trophic level in a lake is :
(A) Fishes

(B) Benthos

(C) Zooplankton
(D) Phytoplankton

(E) Question not attempted

What should come in place of question mark (?)
in the following series ?

M14P, PM14, 4PM1, ?

(A) 14PM (B) 1MP4
(C) 14MP (D) 1PM4
(E) Question not attempted

Which of the following mirror/lens is used in
solar furnaces, torches, search lights and
headlights of vehicles ?

(A) Concave Mirror  (B) Plane Mirror

(C) Convex Lens (D) Convex Mirror
(E) Question not attempted

According to 20th livestock census of India, which
of the following states is on the top of Livestock
Population ?

(A) Rajasthan
(C) West Bengal

(B) Madhya Pradesh
(D) Uttar Pradesh

(E) Question not attempted

P.T.O.
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e & Ieae= & [0 Igdia & 98 T HY

ESTAT ST THT & 2

T fqu U oot § ¥ WO ST 3R I |

(A) WM T

(B) g 3N Tw faum=Hsd & wewt 9
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38.

39.

40.

41.

42,

10

For violation of the Constitution, the President
may be removed from the office by :

Choose the most appropriate answer from the
options given below.

(A) The Prime Minister

(B) The Electoral College consisting of members
of Parliament and the State Legislature

(C) Impeachment

(D) A no-confidence vote

(E) Question not attempted

Which city is the host of the 18th “‘Pravasi Bhartiya

Divas Convention-2025" ?

(A) Bhopal (B) Hyderabad

(C) Chennai (D) Bhubaneshwar

(E) Question not attempted

Which of the following statements is true about
the production of oilseeds and sugarcane in
Rajasthan for the year 2023-24, as compared to
the production of 2022-23 ?

Choose the most appropriate answer from the
options given below.

(A) Total oilseeds and sugarcane production
increased in 2023-24.

(B) Total oilseeds and sugarcane production
decreased in 2023-24.

(C) Total oilseeds production increased, while
sugarcane production decreased in 2023-24.

(D) Total oilseeds production decreased while
sugarcane production increased in 2023-24.
(E) Question not attempted

In 2023-24, Rajasthan was the leading producer of
one of the following types of oilseeds. Identify
from the following :

Choose the most appropriate answer from the
options given below.

(A) Mustard (B) Castor seed
(©) Soya Bean (D) Linseed
(E) Question not attempted

Which of the following is not a category for
classifying the elements ?

(A) Metalloids (B) Metallurgy
(C©) Metals (D) Non-metals
(E) Question not attempted
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43.

44.

45,

46.

Which of the following types of soil occupies the
largest area in Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) Black Soil
(C) Desert Soil

(B) Red Soil
(D) Alluvial Soil

(E) Question not attempted

Choose the correct water image of the given
figure (X).

Ped

*x)

(A)

Be(

Amongst the following figures, which one is
different from the rest ?

TlT TlTlTTiTiTJuu

b
B

(E) Question not attempted

(@) (b) ©)
(A) (@) B) ()
© © D) ®)
(E) Question not attempted

APIO (Assistant Public Information Officer) has
to forward application for information to :

Z

PIO (Public Information Officer)

=

First Appellate Authority
Second Appellate Authority
The head of the Authority

~ N o~ o~ o~
g 0
~ =

o

Question not attempted

P.T.O.
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47.

48.

49.

50.

51.

Ashmit introduced Riti as the wife of his
mother’s husband’s son Sumit to his wife Reema.
How is Ashmit related to Riti ?

(A) Uncle (B) Brother

(C) Brother-in-law (D) Cousin
(E) Question not attempted

Pooja is the daughter of Meera. Meera is Raju’s
only sister whose mother is Malti. Malti's
son-in-law is Rakesh. Rakesh is related to Pooja
as:

(A) Brother-in-law (B) Father

(©) Uncle (D) Brother
(E) Question not attempted

What is the value of question mark ?

D12 a L4

F10 J6

(B) H8
(D) H2
(E) Question not attempted

In the given question, three of the four given
options are alike in some manner and one is
different. Choose the odd one out.

(A) 91]
(C) 39L

(B) 371

(D) 65K

(E) Question not attempted

What is the Agricultural sector’s contribution to
Rajasthan’s income in FY 2023-24, according to

the latest Economic Review 2023-24 by the
Government of Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) 26.72%
(C) 21.35%

(B) 22.60%
(D) 30.85%
(E) Question not attempted
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52.

53.

54.

55.

56.

In a code language, ‘ROCKET’ is written as
‘CROTKE’. How will ‘SEARCH’ be written in
that language ?

(A) ASECHR (B) ASECRH
(C) ASEHRC (D) ASEHCR
(E) Question not attempted

The Constitution of India came into force on :
(A) 15 August 1947 (B) 26 January 1950
(C) 2 October 1948 (D) 26 November 1949
(E) Question not attempted

Which one of the following provisions of the RTI
Act elaborate on first appeals by requesters ?

(A) Section 7(5)
(C) Section 19(1)

(B) Section 20(1)

(D) Section 8(1)

(E) Question not attempted

Who founded the Jat principality of Bharatpur ?
(A) Surajmal (B) Churaman

(©) Rajaram (D) Badan Singh

(E) Question not attempted

The question given below consists of a statement
followed by two assumptions numbered I and IL
Considering the statement as true, decide which
of the following assumption(s) is/are implicit ?
STATEMENT :

Only good dancers were invited to a dance
festival. No one without a flexible body is a good

dancer.

ASSUMPTIONS :

I.  All invited dancers in the dance festival had
a flexible body.

II.  Dancers without flexible body were not
invited to the dance festival.

Z

Only assumption Il is implicit.

=

Either I or II is implicit.

Both I and II are implicit.

S

Only assumption I is implicit.

~_~ N N~ o~
@)
~

o

Question not attempted

P.T.O.
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57.

58.

59.

60.

The western boundary of Rajasthan with
Pakistan is known as

(A) Durand Line (B) Kalapani

(C) Radcdliffe (D) McMahon Line

(E) Question not attempted

Tungsten is a mineral used for making the
filament of bulbs. A famous location of tungsten
ore in Rajasthan is :

Choose the most appropriate answer from the
options given below.

(A) Rajsamand - Bamania
(B) Bhilwara - Rewana

(C©) Ajmer - Kayar

(D) Nagaur - Degana

(E) Question not attempted

Which of the following is not an objective of the
Rajasthan Institute of Transformation and
Innovation (RITI) ?

Choose the most appropriate answer from the
options given below.

(A) To estimate various types of resources
available in the state (physical, financial,
manpower).

(B) To prepare policy guidelines for making the

best use of state resources.

(C) To develop mechanisms to improve the
standard of living of common people.

(D) To provide training to students in the field
of IT.

(E) Question not attempted

Who can make advances out of the Contingency
Fund of the state to meet any unforeseen
expenditure ?

(A) Chief Minister (B) Home Minister

(©) Governor (D) Finance Minister

(E) Question not attempted
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61.

62.

63.

64.

65.

Who founded the city of Jodhpur ?
(A) Rao Maldeo (B) Rao Chunda
(C) Rao Rawal (D) Rao Jodha
(E) Question not attempted

The idea of the Concurrent List has been taken
from the Constitution of

(A) Australia (B) Canada

(©) South Africa (D) Germany
(E) Question not attempted

According to census 2011, which district has the
highest population in Rajasthan ?

(A) Jalore (B) Jaisalmer

(©) Jodhpur (D) Jaipur
(E) Question not attempted

Which one from the four option figures will come
to the right of the problem figure to complete the
series logically ?

’ +A?|:|A!|:|+?

(Problem figure)

A1 A ® 1 A

(E) Question not attempted

What is the missing term in the following series ?
630, 666, 691, 707, ?, 720

(A) 712 (B) 708
© 710 (D) 716
(E) Question not attempted

P.T.O.
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66.

67.

68.

69.

Which state has made the announcement to
launch ‘Mukhyamantri Vishwakarma Pension
Scheme’ in November 2024 for laborers and street

vendors ?
(A) Gujarat (B) Maharashtra

(©) Rajasthan (D) Delhi
(E) Question not attempted
The two states to the North of Rajasthan are :

Choose the most appropriate answer from the
options given below.

A) Haryana and Uttar Pradesh

B) Punjab and Haryana

o

(

(

(C) Haryana and Gujarat

(D) Uttar Pradesh and Punjab
(

E) Question not attempted

In Rajasthan, the Border Area Development
Programme (BADP) is NOT being implemented
in:

Choose the most appropriate answer from the
options given below.

(A) Sriganganagar (B) Jaisalmer

(C) Barmer (D) Alwar

(E) Question not attempted

In the given question, two conclusions (I and II)
are followed by a statement. Assume the
information given in the statement to be true,
select a logically drawn conclusion beyond a
reasonable doubt.

STATEMENT :

Hard work is a key to success.

CONCLUSIONS :
L All successful people are hardworking.
II.  Smart work leads to failure.

A) Only conclusion II follows.
B) Neither I nor II follows.

(

(

(C) BothIand II follow.

(D) Only conclusion I follows.
(

E) Question not attempted
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70.

71.

72.

73.

74.

Name the ruler of the Chauhan dynasty of
Shakambhari, who was given the title of
‘Kavibandhava’.

(A) Ajayraj (B) VigrahrajIV
(C) Prithviraj 111 (D) Arnoraj

(E) Question not attempted

What is RAC in Rajasthan Police ?

(A) Ramgarh Armed Constabulary

(B) Rajgarh Armed Constabulary

(C) Reserved Armed Constabulary

(D) Rajasthan Armed Constabulary

(E) Question not attempted

Which of the following is ejected mostly by

thermal power plants as by-product of coal
burning processes which results in air pollution ?

Choose the most appropriate answer from the
options given below.

(A) Tetraethyl Lead  (B) Dust

(©) Fly Ash (D) Oxides of iron
(E) Question not attempted

Select the one which is different from other three
alternatives :

(A) Trapezium (B) Pentagon
(©) Rectangle (D) Rhombus
(E) Question not attempted

The Phad artist Shrilal Joshi belongs to :
(A) Bikaner (B) Jodhpur
(C) Bhilwara (D) Churu

(E) Question not attempted

P.T.O.
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75.

76.

In which agroclimatic region of Rajasthan; Jaipur,
Dausa and Ajmer are included ?

Choose the most appropriate answer from the
options given below.

(A) Humid Southern Plain

(B) Sub-humid Southern Plain
(C) Semi-arid Eastern Plain
(D) Flood prone Eastern Plain
(E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of them
logically follows beyond a reasonable doubt from
the information given in the statement ?

STATEMENT :

The covid pandemic created mayhem and
exposed the sad reality of existing medical
infrastructure worldwide.

CONCLUSIONS :

I.  Medical infrastructure was improved after
the pandemic worldwide.

II. Dealing with the pandemic required
sophisticated as well as sturdy medical
facilities.

(A) Only II follows.

(B) Neither I nor II follows.
(C) BothIand II follow.
(D) Only I follows.

(E) Question not attempted
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77.

78.

There is a definite relationship between figures
(@) and (b). Establish a similar relationship
between figures (c) and (d) by selecting a suitable
figure from the following options that replaces
the question mark (?) in figure (d).

e

G

K (D) v

(E) Question not attempted

Which of the following figures when placed in
the blank space of fig. (X) would complete the
pattern ?

£d

ZIE
b B

=

0

(E) Question not attempted

P.T.O.
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79.

80.

In the question below, there is a statement
followed by two courses of action (I and II).
Consider the statement to be a fact, decide which
of the suggested courses of action logically follow
it?

STATEMENT :

In a state, it has been observed that there is an
increasing rate of female mortality during child
birth because of early marriages.

COURSES OF ACTION :

I.  Doctors or midwives should refrain from
conducting child deliveries of the underage
females.

II. The government should provide monetary
help to the underage expecting mothers.

(A) Only II follows.

(B) Neither I nor II follows.

(C) BothIand II follow.

(D) Only I follows.

(E) Question not attempted

The District Disaster Management Authority
(DDMA) is headed by :

(A) Block Development Officer

(B) Chief Secretary of State

(©) MLA

(D) District Magistrate

(E) Question not attempted
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I ST A AT S|

(A) Haa gron 11 ffed 2
(B) =t 130T 7 & 11t &
© 13R naEt At E

(D) aat o [t 2

(B) 3rgaia wed

I ST ST 2, qT AR & TS B BT ATH FT
ZRIT 2

(A) feeit (B)

THAT
FHA

(B) 3raRd e

TAT-3T TR b1 6w Fasrepar et ¥ Fafud
g9

(A) wRaE (B)
(O MR
(B) 3raRd e

TReTTE

(D) BIeT
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81.

82.

83.

In the question given below, a statement is
and 1L
Considering the statement as true, decide which

followed by two assumptions I

of the assumption(s) is/are implicit ?
STATEMENT :

The police administration blocked ventricular
movements around the rally ground where a
public meeting is to be held by a leader due to
the large inflow of supporters.

ASSUMPTIONS :

L The leader is very popular among the
public.

IL The leader will win the upcoming election.

(A) Only assumption Il is implicit.

(B) Neither I nor II is implicit.

(C) BothIand II are implicit.

(D) Only assumption I is implicit.

(E) Question not attempted

If ‘Rose’ is known as ‘Sunflower’, ‘Sunflower’ is
known as ‘Lotus’, ‘Lotus’ is known as ‘Jasmine’

and ‘Jasmine’ is known as ‘Lily’, then what
would be the name of Indian National Flower ?

(A) Lily (B) Jasmine

(©) Sunflower (D) Lotus
(E) Question not attempted

Bani-Thani is associated with which school of
painting of Rajasthan ?

(A) Marwar (B) Kishangarh

(C) Bikaner (D) Kota
(E) Question not attempted

P.T.O.



84. I I=U T &I G § E| |84. The High Court of Rajasthan has its bench at
(A) TaisTe (B) SHTHY (A) Chittorgarh (B) Jaisalmer
©) SER (D) FIATQ (©) Jaipur (D) Hanumangarh
(E) al'v‘i'ﬁ'ﬁ_c[ PR (E) Question not attempted
85. I 3T STIEE%'CI* ¥ B G 34'@&[ qite® =97 | 85. Which one from the four answer figures will
ST : come to the right of the problem figure to
jjﬁ; 3 Trqrﬁafr & T P T AT S F T complete the series logically ?
OAJAO 0 AOAO
A O X A O X
O oAl xO X 10 oAl xO X 1
@ [AO X ® [AO X ® [AO X ® [AO X
0 - O 0 - O
1 % 1 X
© [AO X © XOA © [AO X © X OA
[] f ! [] [] f ! [
* * * *
(E) Wﬁ?{ 994 (E) Question not attempted
86. o=t wed ®, U HUA & g [ 3T 11/86.

FHHTPA BUATE & ailh [GU 70 E| HI9 &
T A §U, T B 6 B QA FUAE B
AF ATMhS T A AT HAM 2

P

T JU H TSIl B b ATHA T g ORI H
Wt ¥ gfs ® % ew amist w5 osnfis
THA B T2 B

HATE F TS :

[ ST B e B e § Edidried e
ST =rEu|

II. ¥aT gerast &0 dfei Sid & ol o
P Bl Talgd B F [T H&T ST =T

(A) HIA 11 TTHIT FHIaT gl

(B) T &Y 1T 11 3TIERT T 2|

(C) = T I13MT T & 11 3TTEIV HIAT 2
(D) I 131THIOT FHeaT 2l

(B) 3raRd e
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In the following question, there is a statement
followed by courses of action numbered I and II.
Assuming the statement as true, decide which
course(s) of action would logically follow ?

STATEMENT :

There has been a rapid rise in cybercrime
through fake calls all over the country causing
monetary losses to citizens.

COURSES OF ACTION :

I.  People should be discouraged from buying
smart phones.

II.  The service providers should be asked to
flag the calls from dubious callers.

A) Only II follows.

B) Either I or II follow.

(
(
(C) Neither I nor II follows.
(D) Only I follows.

(

E) Question not attempted



87.

88.

89.

S ST AR F AT AiArepar Ht E, q
_ FEEEd g
(A)  uTq 3T (B) 37eTq AfTES

(©) ®HEA TgtaEes (D) S

(B) 3raRd e

= fer U wuw # S g @it "t &
AT T, T HY [ Afarad & F $iA
FATEN % AP dATPH T I TE&T & 2
PYA

e
&l

HEH HSATRA 3T AT FRT AIF (AT § A8
TA F T TH AT Fe I T4 8, T
TSI FE=AT | N7 BaTed B 2
FYATE F TS

[ TR B FNSHESAE AT B arg=t #
TH IYHLO WA BT (990 AT =TT,
e arat ®t Tfq wEliad ®9 F
50 Tereft/eieT % @A & S|

[I. HSH T TS HAL AT 3 Ieoiad B
qTAT 9T TR FTATT T

A) I [1 1T HIEAT B
B) T T I3 T & 11 3THI0T HIT £

C) I3 ISHT FTEOT FId &

D) had [ 3TEI0T HIAT &l

(B) 3raRd e
Hifqd aRad & TN # frafatad § ¥ 9 9
FAT HE 8 2

(A) 32 AT ¥ IAST Tl 6T ST THhdT &

(B)  ifqies I[UT S SMHIA, AT / IMHR, [T
7T TTXAT & TSeAd |

(©)  us a1 up ¥ 31frE AT g9y A 2

(D) UgTd H TEEHE HIEAT INATId TEdT
2l

(B) 3raRd e
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87.

88.

89.

When non-metals react with oxygen,
is/are NOT formed.

(A) Metal oxides (B) Non-metal oxides

(C) Carbon dioxide (D) Water

(E) Question not attempted

Assuming everything in the statement given
below to be true, decide which of the following
courses of action logically follow(s) ?

STATEMENT :

A strong correlation has been found between the
road accidents and over-speeding by the vehicles
causing large number of casualties.

COURSES OF ACTION :

. The should direct the
automobile companies to install a device in

government

the vehicles to automatically limit the speed
at 50 km/h.

II.  Installation of speed cameras on the roads
and imposition of heavy challans on
offenders.

A) Only II follows.

B) Neither I nor II follows.

(
(
(C) BothIand II follow.
(D) Only I follows.

(

E) Question not attempted

Which of the following statements is correct
about a physical change ?

(A) They cannot be reversed easily.

(B) The physical properties like shape, size,
colour or state are not changed.

(C) One or more new substances are formed.

(D) The chemical composition of substance
remains unchanged.

(E) Question not attempted

P.T.O.



90.

91.

~ DG-06

RTI 3TT9H FT &RT 19 FT ITLRT (3) F d&d
O 3T TR B FH TG TAT

(A) FAA o &5t witq & 90 fa=
(B) FAA Tootar &t wifeq & 40 fo=
(© FAAF forr 5t wifed & 30 fa
(D) FAA forr 5t wifed & 10 fa=
(B) TaRa ueA

T 997 H T PYUF 3T 3T I a6 [T
11 feT wu E| o Fife & = oA 9 e
qT/F % A /2 2

HYA

FT watie e #t B A arfad 9 9T

o . o
TIAS cITIT ST M8y ?

TS

I 2 9 S % W W glagd qwd
AT 2|

[ & I8 Sl & J9 $T & % I arrad
U TG & AT & |

(A) FIA TH 1A 2
(B) T & 14T 11 7Tad &
(© 13 1T AT 2|
(D) aa T [ 799 2l

(B) 3raRd e
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90.

91.

Time limit for filing second appeal under
Sub-section (3) of Section 19 of the RTI Act is :

(A) 90 days from the receipt of FAA’s decision

(B) 40 days from the receipt of FAA’s decision

(C) 30 days from the receipt of FAA’s decision

(D) 10 days from the receipt of FAA’s decision

(E) Question not attempted

The question given below consists of a statement
followed by two arguments I and II. Decide

which of the argument(s) is/are strong ?

STATEMENT :

Should aerated drinks be banned in primary

school canteens ?

ARGUMENTS :

L Yes. It adversely affects the health of kids.

II. No. It's for the students to decide whether
to buy the aerated drinks or not.

(A) Only argument Il is strong

(B) Either I or Il is strong

(C) BothIand II are strong

(D) Only argument I is strong

(E) Question not attempted



92.

93.

94.

~ DG-06

3P (2) 3R (b) F i T Hivad duer 21 fau
U febedl W TH ITYH P BT AAT Fb
MBI () 3T (d) F o T FAT FA«e Toa
HYL ST IMHIT (d) 7 997 Fag (?) &1 wferentug
HLAT Z

(@) (b) (©) (d)

(A) Q (B) D
© (D)
Oe
(B) 3rgaia ued
TSR % [P glEmeR Td qudadar |
urag I et fawm &9
(A) TITETET™E
(B) ST WA I
(C) TTHT BRI 3N
(D) drsit =Y ¥
(B) 3rIana ued
A S T AT AT H JA FAT AT AR 2
ZP,YO, XN, WM, ___
(A) VP (B) ZP
(© VL (D) ZL
(B) 3rIana e
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92.

93.

94.

There is a definite relationship between figures
(@) and (b). Establish a similar relationship
between (c) and (d) by selecting a suitable figure
from the given options that replaces the question

mark (?) in fig. (d).
AT 2

(@) (b) (©) (d)

&)
O (D)

(E) Question not attempted

Which historian and archaeologist of Rajasthan
wrote the famous text ‘Lipimala’ ?

(A) Dayaldas

(B) Kaviraj Shyamal Das

(©) Gaurishankar Heerachand Ojha
(D) Baviji Chatur Singh

(E) Question not attempted

What should come next in the letter series given
below ?

ZP, YO, XN, WM,
(A) VP (B) ZP
(C) VL (D) ZL

(E) Question not attempted

P.T.O.



95.

96.

97.

98.

99.

ST T TR % SIS H TH Bl BISH T JTAT |95.
Ty 2| g8 (Fe) 71 =we S|
(A) NS : IR (B) < : WA
Q) =T =g (D) W : TAHET
(E) I ANa ued
18 3T 2024 BT “TI9T eReT Tgaq’ & 7Ta I | 96.
EERERICE I (e M R 3G A e L LA
IETIRT TRt T 9
(A) T FIALTHT (B) =g Hial
(C) ToTE Higatt (D) W dgABT
() SrIand ued
Wi IS IRIST F dgd e H (97
frfeiEd § o o9 T TRl &1 SR o
ST T 6 o | UREldd 6T T & 2
frrfeiaa fasedt # & Fo® Iuga ST I |
(A) T TSR T&AT 14
(B) TSI TSTHRT WEAT 8
(C) TET TSTHRT FEAT 3
(D) TSET TTHART T 11
(B) 3rgand ued
“TI9T quTaRoT fgaq” S AT STAT & 2 98.
(A) 55 (B) 63
Q) 14 3rrd (D) 15 3nred
(B) 3rgand ued
freforfaa & & ®19 9 st amsta (X)  fgw|99.
T Y ¥ ffea B0
(X)
(A) \/\/ (B) j
© ‘_/—' (D) Z
(B) 3TIaRa wed
26

The given pair of words share a common
relationship except one. Choose the odd one out.

(A) Wine : Grapes (B) Belt : Leather

(©) Gold : Silver (D) Paper: Wood

(E) Question not attempted

Whose statue was unveiled in ‘Jaipur Wax
Museum’ on the occasion of ‘World Heritage
Day’ on 18t April 2024 ?

(A) Lata Mangeshkar (B) Narendra Modi
(C) Virat Kohli (D) Sachin Tendulkar
(E) Question not attempted

Which of the following National Highways in
Rajasthan has been converted into 6 lane from
Jaipur to Ajmer under Golden Quadrilateral
Project ?

Choose the most appropriate answer from the
following options.

(A) National Highway number 14

B)

C) National Highway number 3
D)

E) Question not attempted

National Highway number 8

(
(
(D) National Highway number 11

(

When is “World Environment Day” celebrated ?
(A) 5t June (B) 6th June

(C) 14t August (D) 15t August

(E) Question not attempted

Which of the following figure is embedded in the
pattern given in fig. (X) ?

X)

Yot 7]
Ve

(E) Question not attempted




100.

= T 7T woF H UH AT F I8 qF dF 130
17T 77 #| a9 w7 BE YT dF AT
g/E?

HYA ¢

T ARG S 30§ Fad aF ToHIaS g 2
TTET 2

b
I 2 38 AT UlhaT A 8t S|

[I. 7& 9Ra ¥ < F @ by gy
IMepTeTd ¥, ST Sal B WY ITaeunar B

(A) FHaA TP 1A 2

(B) = a¥ 13fT 7 & 11w 2l
(C) 13 AT AT 2|
(D) ad T 799 2l

(B) 3TARa ueA

-00o0-
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The question given below consists of a statement
followed by two arguments I and II. Decide
which of the argument(s) is/are strong ?

STATEMENT :

Should there be only two political parties in a
country like India ?

ARGUMENTS :
L Yes. It will make the election process
easier.

II.  No. In a country like India where there are
several regional aspirations, regional parties
are also required.

(A) Only argument II is strong.
(B) Neither I nor Il is strong.
(C) BothIand II are strong.
(D) Only argument I is strong,.

(E) Question not attempted

P.T.O.
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